6.1

0-80
80-160
160-240

0-80
80-160
160-240

0-80
80-160
160-240

4 5.1

6.1

51

step

= e e e e e do S o
— 0O

, 2% settling time,

1.1
1.1
1.1
43
43
43
43
43
43

4 coW + cw -

18
18
18
44
44
44
44
44
44



20

30

40

50

15°

6.2

Profile

6.3

Profile
-0.016

-0.128 10.016
-0.024 10.12
-0.12 10.024
-0.032 10.112
-0.112 10.032

4 step
Profile

No profile
-0.016 , 0.128

-0.016 10.128
-0.024 10.12
-0.024 10.12
-0.032 10112
0.112

4 step
Profile

100

(2°3°4 )

2% settling time,
Profile No profile
006 04 005 014
010 028 0.5 1006
007 074 005 019
010 043 007 02
019 036 006 017
009 038 006 013

5,10 ,15 20

, 2% settling time,

-0.04 10.104 0.12
-0.104 10.04 0.11

-0.224
-0.08
-0.264
-0.024
-0.16
-0.128

0.06 0.23
0.08 0.24
0.024 0.35
0.264 0.36
0.132 0.46
0.128 0.46

0.28
0.45
0.48
0.48
0.46
0.40
0.48
0.49
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6.4 4 step -5 710 15 -20
Profile
, 2% settling time,
5° 0°- (-5°) -0.104 10.04 012 041
(-59)- 0° -0.04 10.104 012 031
10° 0°- (-10°) -0.064 10.08 022 048
(-10°)- 0° -0.08 10.064 023 045
15° 0° (-15°) 0298 0.12 0.34 10.37
(-159)- 0° -0.264 ,-0.12 034 037
220° 0°- (-20%) 0.016 1-0.128 048 0,50
(-20°)- 0° -0.304 10.128 045 048
5.2 1
6.5 3 4
CMM ( 520-5.21)
90
+25 +50 %
, % , % ,
CcMM 3 4 CMM 3 4 CMM 3 4
60 80 -0 70 90 -0 £120 120 4550
-20 -60 -50 -50 -70 -0 +170  +400 4390
CMM
3 4 5.22
3 CMM 0.5
4 0.7 5
Profile
Profile Profile 3 4
4
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3 X
X Z
X
2
y z X
y y
Z
yz
Z
4
Profile Profile 2% settling time
Profile ( 4) Profile
Profile
4
31

4 tep 5°, 10°, 15° 20° -5°, -10°, -15°, -20

0144  ( 4
I )
4 , ,

(+20° - (-20%) 5

3 4 CMM 12,
3

CMM 3.1665



11

1.2

13

isolation

vibration isolation

0.05

CMM

vibration isolation

6.2

103
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Yaw 1z Pith Y

z Straightness
6.2 X
6.2
X 6
(Translation) Xscale error Y straightness & straightness
Roll Pitch Yaw 3
18 XYIYZ X
2
1
Rotary table 29

Computer aided accuracy ~ Accuracy enhancement

CMM

81 4 1



8.2

8.3

XI = x +Lsin(a)
zl = 7+ L 1cos(a)

. d(L sin(a))
X =

7 =

0.144
0.0%

1
(0.0025
0,034

oL

6.3

= dL
= cos(a) edL- L

)

N

sin(a)

a

5(L sin(a))

=sin(a) 1dL + L rcos(a) -0a

j 1 d(L-cos(a)) +5(L-cos(a))

20

105

4 0.144°  [step

40 a
x1 71
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8.4 6.4

v

- N
A 4
»

A
b

1
m k

Start Rotate lasar haad

A\

N L :
D(X1N ;
Finish
6.4
i dz L a
dx = L(sin(a2) - sin(a, )
dz L(cos(a,)- cos(a2)
1
2
d dz 112 L

Adx = (sin(a2) - sin(q, )) «dL - Lecos(, ) +d(a, ) - L1cos(a2)-d(a2)
Adz = (sin(a2) - sin(a,)) -dL - L-sin(a, ) -d(al) + L- sin(a2) «d(a2)

( d@ 000 L0 |
2 Adx= -0.1940 - Adz= 00342



21
6.1

2.2

CMM
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